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Where we’ve been

I Last week we developed a model of an open economy

I We took our standard closed economy and added in

I Trade in goods and services (Net Exports)

We showed that ∂NX
∂ε

(ε,Y ,Y ∗) < 0 in general

I Capital flows across the border

We derived the interest parity condition, and discussed its implications for monetary policy

I We showed that aggregate savings are tightly related to the change in net borrowing from
foreigners (the current account)

I We figured out that we will probably need either real interest rates or the exchange rate to
clear this market
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Where we’re going

I We need a coherent theory of how real interest rates are determined

I We’ll see that open financial markets mean that over the long run, they must be the same at
home and abroad

I The only price we have left to clear the savings market is the exchange rate

I We’ll work through a simple long-run model of output, next exports, and the real
exchange rate

I Under what circumstances does a change in the government deficit will lead to a current
account deficit

I We will characterize investment and growth in our open economy, when capital moves
freely across borders

I We’ll discuss whether we (the as the social planner) care about the current account
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Section 1

Real Interest Rates, Exchange Rates, and Net Exports
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Making interest real
I Let’s go back to our interest parity condition:

it +
∆eet
et︸ ︷︷ ︸

Expected Return at Home

= i?t︸︷︷︸
Expected Return Abroad

(1)

I How does the nominal exchange rate change?

I Assumption: We are in the long run

I Prices and wages adjust (output is at its natural level)

I This means that the real exchange rate ε is constant

Real exchange rates can’t be growing at a constant rate over time in the long run, since that means

exporters could not compete, and exports would fall (i.e, we’re not in the long run)

I We have a formula for the exchange rate:

et = ε
P?t
Pt

(2)
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Making interest real
Growth rate of ε

e = εt
P?

P
(2)

I We want the growth rate of e. Two ways to get it:

1. Rule of thumb for growth rates:

∆et
et
≈ ∆εt

εt︸︷︷︸
= 0

+
∆P?

t

P?
t︸ ︷︷ ︸

Inflation Abroad

− ∆Pt

Pt︸ ︷︷ ︸
Inflation at home

(3)

2. Take logs and differentiate:

log(et) = log(εt) + log(P?
t )− log(Pt) (4)

=⇒ 1

et

∂et
∂t

=
1

εt

∂εt
∂t

+
1

P?
t

∂P?
t

∂t
− 1

Pt

∂Pt

∂t
(5)

I No matter how you do it, we see that since real exchange rates are constant, we must have

∆et
et
≈ π?t − πt (6)
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Making interest real
Real interest parity

We already have:

∆eet
et

= i?t − it (1)

∆et
et
≈ π?t − πt (6)

I In the long run, expected change in the exchange rate must be the actual change

I So we can drop subscripts (long run) and combine eqs. (1) and (6) to obtain

i? − i = π? − π =⇒ r = r? (7)

I Free financial flows require that the real rate is the same everywhere

I Notice that savings are no longer tied to the real interest rate – if savings are too low to
cover investments, the remainder is borrowed from foreigners
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Are real returns constant across countries?

I The spread between nominal
interest and inflation (rt) tends
to be between 0 and 3% for
most OECD countries

I Higher inflation is compensated
by higher nominal rates

I We should expect that
differences are mostly due to
default risk

358 THE OPEN ECONOMY

Fig. 13.1 Inflation and interest rates, averages, 2005–2010
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Source: OECD Economic Outlook, OECD, 13 October 2011, http://www.oecd-ilibrary.org/statistics.

where Yd = Yn − T + r∗ (D+ F). In line with the result in the previous section
we have set r = r∗. Since the real interest rate is determined in the world mar-
ket, it cannot adjust so as to keep production at the natural level. Instead, the
real exchange rate must adjust if aggregate demand is to be equal to the natural
level of production in the open economy. With the intertemporal relative price
fixed, the international relative price has to adjust so as to equalize supply and
demand in the small open economy. The real exchange rate must adjust so that
firms can export the production that is not used for consumption and investment
at home.

Let us try to illustrate the determination of the real exchange rate. First note
that production that is not used for consumption and investment at home must
be exported. For production to be at the natural level, Y =Yn, we must have

NX (ε,Y ∗,Yn) =Yn −C
(
Yd,Y e −Te, r∗,A

)− I (r∗,Y e,K) −G.

Fig. 13.2 illustrates the determination of net exports. In a closed economy, the real
interest rate would be ra, the autarky interest rate. If the world real interest rate
is higher than ra, production exceeds domestic demand and the residual must be
exported.

Fig. 13.3 shows the determination of the real exchange rate. In the long run, the
real exchange rate must adjust so that the exporters can sell the required amount
of exports in the world market. If the real exchange rate is higher, production will
be below the natural level.

In fact, the relation between supply and demand for domestic goods and the
real exchange rate is similar to the relation between supply and demand for any
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What clears the market for savings?
I We now know that rt cannot clear the market for savings in our economy?

I So where do the excess savings go?

I Let’s go back to basics: the natural level of production is determined just like in our
closed economy

Y n = F (K ,E (1− un)L) (8)

I Aggregate demand is determined by the IS equation:

Y = C (Y d ,Y e − T e , r?,A) + I (r?,Y e ,K ) + NX (ε,Y ?,Y ) (9)

I Where disposable income Y d = Y n − T + r?(D + F )

I Note we’ve set r = r? everywhere

I If production is at the natural level (long run) then we must have:

NX (ε,Y ?,Y n) = Y n − C (Y d ,Y e − T e , r?,A)− I (r?,Y e ,K )− G (10)

I What clears the market? The only price we have left is ε
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Net exports are the residual (in equilibrium)

I Open economy version of what
we’ve seen before

I r a is the interest rate that would
prevail in autarky (no trade)
This is what prevailed in our closed

economy

I Net exports are the horizontal
gap between Y n and C + I + G
at r = r?

I Note: There’s no equilibrium in
this picture – need to think in ε
space instead

13. THE OPEN ECONOMY IN THE LONG RUN 359

Fig. 13.2 Supply, domestic demand, and net exports

r

C + I + G

r ∗
NX

Yn

r a

Y

Fig. 13.3 Net exports and the real exchange rate

ε

0
NX

NX (ε,Y ∗, Y )

Y n − C − I  − G

ε n

individual good and its relative price. Consider a group of farmers who grow pota-
toes. They harvest the potatoes, keep some for their own consumption, and they
also keep some to put back in the ground in order to grow potatoes next year. In
order to sell the rest, they have to set a price so that the available supply can be sold
in the market. If the price of the potatoes is too high, some potatoes will remain in
the storage room. Similarly, if goods produced in the small open economy are too
expensive relative to foreign goods, there will be high unemployment in the small
open economy.

In the closed economy, we defined the natural rate of interest as the real rate
that is consistent with production being at the natural level. In the open economy,
we can analogously define a natural real exchange rate, εn, as the real exchange
rate that is consistent with production being at the natural level.

We can use these diagrams to analyse the long-run effect on the real exchange
rate of various exogenous shocks. Consider, for example, an increase in invest-
ment opportunities, leading to an outward shift in the investment function. This
leads to an increase in domestic demand. Since the natural level of production
has not changed, net exports must decrease, and this requires an apprecia-
tion of the exchange rate. The effect of increased investments is illustrated
in Fig. 13.4.

4
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What real exchange rate clears the market for goods?

I Now we can figure out the
natural real exchange rate

I It is the rate that causes net
exports to clear the goods
market the natural level

I εn is the sensible analogue of rn

in a small open economy

I Now we start to say something
useful about how a change in
aggregate demand impacts the
long run exchange rate
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What happens if investment increases?

360 THE OPEN ECONOMY

Fig. 13.4 The effect on net exports and the real exchange rate of an increase in the
willingness to invest

Y n

C + I + G

r

NX

−ΔNX 0
NX

Y n − C − I  − G
ε

NX

−ΔNX

Y n

r ∗

But who sets the real exchange rate? What makes the real exchange rate adjust
to shocks? This will depend on the exchange rate system. Recall from Chapter 12
that the real exchange rate is the nominal exchange rate multiplied by the price
level in the small open economy and divided by the world price level:

ε = eP
P∗ .

For a given price level abroad, an adjustment of the real exchange rate can be
achieved by an adjustment of the price level P, or by a change in the nominal
exchange rate, e. Which variable will adjust depends on the exchange rate system.
Suppose, as above, that there is an increase in domestic demand:
• If the central bank keeps the nominal exchange rate fixed, increased investment
will raise demand in the small open economy so that production will exceed the
natural level of production. This will lead to inflation in the small open econ-
omy and the price level will increase until net exports have declined so much
that production is back at the natural level. In this case, the real exchange rate
adjustment is achieved via price adjustment.

• With a floating exchange rate, the nominal exchange rate will also adjust. To
prevent the domestic economy from overheating, the central bank will raise the
interest rate, leading to an appreciation of the currency. In this way, some of the
adjustment of the real exchange rate may take place via a change in the nominal
exchange rate. We will analyse this adjustment process more when we analyse
the open economy in the short run in Chapter 14.

The relation between the budget deficit and the current
account deficit
Two deficits are often discussed in the media: budget deficits and current account
deficits. How are these deficits related? We now have a theory that allows us to
answer this question in a precise way.
A budget deficit means that the government is borrowing, so net government

debt increases. A current account deficit means that the country is borrowing, so
net foreign debt increases. Clearly, the difference between these is net borrowing
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Protectionist Trade Policy

I What if government prohibits imports of
foreign steel?

I For any given ε: imports are lower after
the policy, so NX curve shifts out

I Note: aggregate demand stays the same,
so NX stays the same in the long run

I ε adjusts up to clear the market

I Lower imports of steel must be offset by
lower exports of other things

I Trade falls, but both NX and Y remain
constant: there is no macroeconomic
justification for trade policy

I Moreover, with gains from trade, this
policy probably decreases welfare
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Who actually sets ε?

Recall that

ε =
eP

P?

Which nominal variable adjusts depends on monetary policy

1. Fixed Exchange Rate: since e cannot adjust, the price level P must move instead

I Increased investment leads to inflation

I Price level rises until net exports have declined enough that production is at its natural level

2. Floating Exchange Rate: nominal rate e can adjust

I If central bank targets inflation, then P stays constant

I Since aggregate demand has increased, that means central bank raised nominal interest rate

I Nominal exchange rate must rise, otherwise interest parity would not hold
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The Current Account and the Government Budget

I People often talk as though the government budget deficit moves the current account.

I To make sense of this, let’s rewrite aggregate savings:

Y d − C − I︸ ︷︷ ︸
Private net saving

= ∆F︸︷︷︸
Current Account

+ ∆D︸︷︷︸
Budget Deficit

(11)

I If you save £100, there’s only two places it can go:

1. Lend it to the government

2. Lend it to foreigners

I What happens if the government increases ∆D?

I We need to know the effect on savings
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Savings effect depends on Ricardian Equivalence

Y d − C − I︸ ︷︷ ︸
Private net saving

= ∆F︸︷︷︸
Current Account

+ ∆D︸︷︷︸
Budget Deficit

(11)

What is your view on Ricardian equivalence?

1. Assume Net Savings is constant:

I If you lend the government more, you must be lending foreigners less

I Current account offsets ∆D one for one

I Real exchange rate will adjust to clear the market for goods

2. Assume full Ricardian Equivalence:

I Consumers know that an increase in D will have to be offset by higher taxes in the future

I Savings increase 1:1 to pay the future taxes

I Current account ∆F does not change at all

Reality probably lies somewhere in between...
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∆D and ∆F
I In some countries they seem to move

together
I High deficits in the US in the 1980s and

2000s show up clearly in the current
account

I In others, not so much: Japan and Italy
have high deficits and current account
surpluses

I The UK seems to have almost a negative
correlation

I This looks like weak evidence of a
systematic correlation

I Maybe Ricardian equivalence is more
relevant than we thought?

I Confounding Shocks: business cycle
booms drive C , I and ∆D at the same
time

362 THE OPEN ECONOMY

resulting change in the current account will be smaller than the change in the
budget deficit.

So what do the data say? Fig. 13.5 shows government net lending and the
current account for five different countries. In some cases, there seems to be a

Fig. 13.5 Government net lending and the current account
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Fig. 13.5 (Continued)
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relation. The high government deficits in the US in the 1980s and after 2001 coin-
cided with large deficits in the current account. On the other hand, the US current
account deficit remained in the 1990s although there was a dramatic improvement
in government finances. For Canada, there is a clear positive relation between the
two deficits. For the other countries, there is not much correlation. Japan and
Italy have had large government deficits combined with surplus or balance in
the current account. As a result, these countries now have very large stocks of
government debt which are mainly held by domestic residents.

Our theoretical conclusion was that, unless there is complete Ricardian equiv-
alence, shocks to taxes and government expenditure will move the two deficits in
the same direction. A tax reduction, for example, will increase both deficits. In
fact, there is a rather weak relation between the two deficits. How can this be?
There are two possible explanations:

1. One interpretation is that Ricardian equivalence is more relevant than wemay
at first think, that private saving substitutes for government saving. Surely,
one reason why Japanese households save so much is the poor shape of
government finances in Japan.

4
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What about a depreciation of the currency?

I Does a current account deficit lead to a
depreciating currency?

I Consider starting from NX = 0 and F = 0

I Suppose that C goes up to C1: next
exports decrease, and ε ↑

I At some point however, consumers must
pay back loans. C falls to C2 and the
exchange rate falls even below ε0

I Large current account deficits may predict
future depreciations, but...

I When will that happen? Very hard to
predict in general

364 THE OPEN ECONOMY

2. Another reason is that there are other shocks to private savings and
investments that drive the two deficits in opposite directions. Suppose, for
example, that there is a boom arising in the private sector so that private
investment and consumption both increase. This will increase the tax rev-
enue of the government, so the government deficit decreases. At the same
time, demand for imported goods will increase, so the current account deficit
increases. In this way, business cycle shocks drive the two deficits in opposite
directions, and this may be one reason for the low correlation between the
two deficits.

Thus we see that the co-variation between the two deficits will depend on what
shocks drive the variation in the data. This makes it hard to find a relation between
the deficits. Yet our theory says that, ceteris paribus (all else being equal), a bigger
government deficit should normally lead to a bigger deficit (or smaller surplus) in
the current account.

Does a current account deficit lead to depreciation of
the currency?
Sometimes, it is argued that a current account deficit will lead to depreciation
of the currency. The US has had a current account deficit for a long time and it
has sometimes been argued that this will lead to depreciation of the dollar, yet
the dollar has gone up, and down, and up, and down, several times. What does
macroeconomic theory say about the relation between the current account and
the real exchange rate?
Consider a country where the current account is in balance (NX = 0) and there

is initially no net foreign debt (F=0). Now assume that, for a period of a few years,
domestic consumers spend more, so the savings of the country are reduced, and
the country runs a current account deficit. After this period, consumers stop
spending and start to pay back their loans from foreign countries, resulting in
a current account surplus.
Fig. 13.6 illustrates how this affects net exports and the real exchange rate.

Initially, NX = 0 and the real exchange rate is ε0. Now there is an increase in
consumption, leading to a decrease in net exports and an appreciation of the

Fig. 13.6 The effect on the real exchange rate of first spending and then paying back

0
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Y n − C2 − I  − G
Y n − C1 − I  − G
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macroeconomic theory say about the relation between the current account and
the real exchange rate?
Consider a country where the current account is in balance (NX = 0) and there

is initially no net foreign debt (F=0). Now assume that, for a period of a few years,
domestic consumers spend more, so the savings of the country are reduced, and
the country runs a current account deficit. After this period, consumers stop
spending and start to pay back their loans from foreign countries, resulting in
a current account surplus.
Fig. 13.6 illustrates how this affects net exports and the real exchange rate.

Initially, NX = 0 and the real exchange rate is ε0. Now there is an increase in
consumption, leading to a decrease in net exports and an appreciation of the

Fig. 13.6 The effect on the real exchange rate of first spending and then paying back
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What about a depreciation of the currency?

I Does a current account deficit lead to a
depreciating currency?

I Consider starting from NX = 0 and F = 0

I Suppose that C goes up to C1: next
exports decrease, and ε ↑

I At some point however, consumers must
pay back loans. C falls to C2 and the
exchange rate falls even below ε0

I Large current account deficits may predict
future depreciations, but...

I When will that happen? Very hard to
predict in general

364 THE OPEN ECONOMY
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Section 2

Investment and Growth
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What determines investment?

f ′(k?)

1 + µ
− δ = r? (12)

I Here k = K/(EN) as before

I Like in our closed economy, firms keep investing until the marginal return to a unit of
capital (net of depreciation) equals the financing cost

I In our closed economy, the financing cost was r̄ : determined in equilibrium

I But now, the relevant interest rate is the international rate r?

I Production is given as

Y = Y n = F (K ,ENn) = F

(
K

ENn
, 1

)
ENn︸ ︷︷ ︸

Constant returns to scale

= f (k?)ENn︸ ︷︷ ︸
Def of f

(13)

I Key Insight: The link between household savings and investment is broken, since r? is
independent of our small economy
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What determines investment?
I Suppose k0 is lower than k?. How is the

additional investment financed?

I Use domestic savings

I If not sufficient, borrow from
international capital markets

I As long as the net return on capital
f ′(k)/(1 + µ)− δ is above r?, it will be a
profitable loan, and a good business
decision for firms

I Question: How quickly does the capital
stock adjust?

I In our model, it’s instantaneous

I In the real world there are many reasons
it might be slow

Think about complementary forms of capital

(roads, human capital), time required to build

factories/machines, financing constraints, etc...

366 THE OPEN ECONOMY

Fig. 13.7 The required return and the steady state capital stock in the open economy

k0 k∗

r∗

r

1 + μ
f ′(k)

k

−δ

The long-run adjustment of the capital stock is illustrated in Fig. 13.7. If the capital
stock is initially lower than k*, the marginal return on capital is high, and firms
will invest until the capital stock reaches k*. If domestic savings is not sufficient
to finance the desired investment, firms will borrow from foreign households to
finance the investment until the capital stock reaches the optimal level. During
this process, the country may run a current account deficit.

We see that, when financial markets are completely integrated, investment in
the small open economy is completely disconnected from national savings. As
long as the marginal return on capital is above the world real interest rate, there is
no reason not to invest. With truly integrated financial markets, the required real
return on investment is the same in all countries.

How quickly does the capital stock adjust? In our simple model, firms in the
small open economy could just borrow in international markets so as to immedi-
ately equip their workers with the appropriate amount of capital. Taken literally,
this would mean that firms in Uganda could borrow to equip their workers with
the most modern sophisticated machines and then they would produce on the
same level as workers in the US.

In practice, there are a number of factors that slow down this adjustment.
Investment takes time and is associated with various costs. As we emphasized in
Chapter 5, there are many kinds of capital, which complement each other, and if
some types capital are missing, the return on investment in other types of capital
will be very low. If the transport system works poorly, if the workers do not have
the required education and experience, and there is no law and order, the return
from investment in the most modern machines will be very low.

In practice, financial markets are neither completely separate, nor perfectly
integrated. Small firms cannot borrow directly in the international financial
markets. Capital can be channelled to them indirectly, through banks and invest-
ment companies, but this process is limited because of information problems. As
we will discuss further in Chapter 18, the financial system is a network of relations
based on trust and specific information.

Nonetheless, the main message from this analysis is that a country that has
a low capital stock, but a high potential in the form of a well-educated popu-
lation, can profit from borrowing to finance investments. The resulting current
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Financing investment

I Suppose you live in a closed economy –
real interest rate is r a, set so that

Y n−C (Y d ,Y e−T e , r a,A)−G = I (r a,Y e ,K )

I Now let’s open the economy: world
interest rate is lower r? < r a

I Implication 1: Steady state capital is
higher

I Implication 2: Investment goes up, but
so does consumption, so savings go down

I The extra investment is financed by
borrowing from abroad!

I Whether r a is higher or lower than r?

depends on domestic factors (incentives to
save)

k

r

f ′(k)
1+µ − δ

k0

r a

k?

r?

NX

ε
Y n − C0 − I0 − G

NX

εn0
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Where does capital flow?

I This analysis tells us that countries with savings that are too high for their “natural”
capital stock will export their capital abroad (i.e, invest in foreign countries)

I If financial markets are open, then capital flows to wherever the returns are highest

I Our model says that this only stops when returns are equalized across countries

This is a sharp empirical prediction!

I Question: Do countries care that they’re exporting capital?

Y = Y n = F (K ,ENn) = f (k?)ENn (14)

If you export your capital, then won’t your long run production be lower?

I Yes! But what you care about is national income Y n + r?F not production

I Fall in output is more than made up by higher income on loans made abroad

The converse is also true for capital importing countries
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Where does capital flow?
Supply Side

f ′(k?)

1 + µ
− δ = r?

I Another way to think about this is in terms of the marginal product of capital

I Our analysis suggests that in open financial markets, capital will flow from countries with
a low MPK (large capital stocks) to countries with a high MPK (low capital stocks)

I In principle, this is an efficient outcome:

I You don’t want to keep building factories and machines where the marginal return is low

I Instead, you want them built in the places where the MPK is high

I This implies that capital stocks should converge over time
In practice, convergence may not be uniform, and it may be quite slow
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Section 3

Current account and long-run foreign debt
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Income vs. Production

I In our closed economy, income and production are the same thing

I However, in an open economy, foreign income from abroad means that national income is

Y n + r?F

I Savings do not determine investment, but they do determine the long run path of
national income

I In principle, savings depend on the relative interest rate r? and the subjective discount
rate ρ:

I If ρ = r? then savings will stay constant

I If ρ > r? then savings will decrease (households value the present more than capital and
investment markets do)

I If ρ < r? then savings will accumulate
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Effects of Impatience

I Recall the Euler Equation from
earlier this year:

u′(Ct)

u′(Ct+1)
=

1 + r?

1 + ρ
(15)

I This means that (in our model)
if ρ > r?, debt will rise forever,
and consumption falls to zero.

I In practice, eventually
households would simply default
on their debt.

I Lenders, knowing this, would
eventually stop lending to them
The real return on the loan, accounting

for default risk, would be lower than r?

368 THE OPEN ECONOMY

Suppose that at some point in time, consumers become more impatient, so
the subjective discount rate rises above the world real interest rate. What hap-
pens then? Since ρ is now higher than r∗, consumers will start to consume more
than their income, and decrease their asset holdings over time. The capital stock
and production will remain at the steady state level, but net claims on foreign-
ers will decrease. Domestic production (GDP) remains unchanged but national
income falls over time as interest income on foreign assets decreases. (Recall from
the national accounts in Chapter 1 that the difference between production and
income is net factor income from the rest of the world.) Since consumers in the
small open economy continuously consume more than their income, their level of
wealth will decrease over time, and so will national income and consumption.

This process is illustrated in Fig. 13.8. Initially, consumer spending is equal
to income, and net foreign assets remain unchanged. At time t = t0 consumers
become more impatient and consume more than their income, so net foreign
assets start to fall.

But where will this end? According to the theory presented here, there will not
be a happy ending. Consumption will decrease forever, and debt will increase
forever. That consumption will decrease can also be seen from the first-order
condition for consumption that we derived in Chapter 4:

u′ (Ct)

u′ (Ct+1)
= 1+ r∗

1+ ρ
.

If ρ is larger than r* the right-hand side is smaller than one. For the left-hand side
to be smaller than one, u′ (Ct+1) must be larger than u′ (Ct). Since the marginal
utility is decreasing in consumption, this can only be the case if Ct+1 is smaller
than Ct . The consumer consumes more today than he will be able to consume in

Fig. 13.8 The long-run effects of impatience
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How integrated are financial markets really?

I In a closed economy, savings and
investment are tightly linked

I In an open economy with well
integrated financial markets, they
do not need to be related

I What do we see in the data?

I Weak correlation between
savings and investment

I Huge variance in savings rates,
but not much in investment
Determinants of willingness to

save across countries is not well

understood

13. THE OPEN ECONOMY IN THE LONG RUN 371

Fig. 13.9 Savings and investment across countries 2008, percent of GDP
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Source: OECD Economic Outlook, OECD, 18 January 2012, http://www.oecd-ilibrary.org/statistics.

investment ratios. Apparently, the incentives and/or willingness to save differ
substantially between countries. The reasons for these differences are not well
understood.

13.6 Should current account balance be an objective
of policy?

Current account deficits and surpluses are often described as ‘imbalances’ that
need to be corrected. But should we worry about the current account and should
balance in the current account be an objective of economic policy?

In the 1950s and 1960s, most politicians and economists would have answered
‘yes’ to this question. Capital flows were regulated, so it was difficult to finance
a current account deficit in international financial markets. Most countries had
fixed exchange rates and could easily run into problems financing a deficit. If
there was a current account deficit but no corresponding inflow of private lend-
ing, importers would come to the central bank to exchange domestic for foreign
currency and the central bank would run down its foreign currency reserves. This
could easily lead to an exchange rate crisis and make it impossible to maintain a
fixed exchange rate.

Today, most economists take the view that balance in the current account
should not be a target for economic policy.6 International borrowing and lending

6 In economics, we always ask the same questions, but students should be aware that the cor-
rect answer changes as time goes by. When the author was teaching at Stockholm University in
the 1970s, he taught his students that balance in the current account was a central objective of
macroeconomic policy.
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Section 4

Large Open Economy
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What happens if our economy isn’t small?

I Closed Economy: r determined by S = I

I Small Open Economy: r? is fixed

I Large Open Economy: r depends on our
country

I The net savings in our large open economy
can impact the whole world:

I Excess savings relative to investment
decreases r?

I Deficit of savings increases r?

∆F

r

0
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Clearing Markets

I Start with F = 0

I Market clearing for savings requires:

∆F (r) = Y n − C (Y d ,Y e − T e , r ,A)− I (r ,Y e ,K )− G (16)

I But also we have to clear the goods market:

NX (ε,Y ,Y ?) = ∆F (r) = Y n − C (Y d ,Y e − T e , r ,A)− I (r ,Y e ,K )− G (17)

I Now, both prices adjust!
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Government spending crowds out investing again

I Suppose G ↑ in large open
economy

I For any given NX level, the
interest rate required to
implement it goes up (so
Y n − C (r)− I (r)− G shifts up)

I That means that in equilibrium,
interest rate moves from r1 to r2

I Higher rates crowd out some
consumption/investment

I Net lending to foreigners falls
(and so do net exports)

I NX decreases and ε increases

∆F

r

0

∆F (r)

Y n − C (r)− I (r)− G1

r1
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